
l;=g+= ljlgof]lht If]q of]hgfsf] gfd j8f g+= :yfg hDdf ljlgof]lht /sd s}lkmot

1 ;fpgv]t — uh]{ ;8s lgdf{0f 3,  4 20000000.00

2 b]pn]s — df}/Lau8 ;8s lgdf{0f 8,  7 10000000.00

3 >Lefj/ — uh]{ ;8s lgdf{0f 9 6000000.00
4 ljGb|fjg — l;uf; ;8s lgdf{0f 1,  3 3000000.00

5
tf5]sf]n' — /0f cf=lj= x'b} s'lr{g]6f 

;8s lgdf{0f

2 1000000.00

6 ufh/L — s'lr{g]6f ;8s dd{t 2 1000000.00

7 b'lbnfvfg — ynfsf8f ;8s dd{t 1,  2 1000000.00

8
s]lGb|o ljB't nfO{g lj:tf/ 

b'lbnfvfg — uh]{

2 5000000.00

9
s]lGb|o ljB't nfO{g lj:tf/ nug 

— uh]{

3 5000000.00

10 s]lGb|o ljB't nfO{g lj:tf/ 1 2000000.00
11 Gjf3/ n=h=lj= of]hgf 7 5000000.00

12 ynfnLuf8 n=h=lj= of]hgf 6 5000000.00

13 e]s]vf]nf n=h=lj= of]hgf 6 5000000.00

14 bf]uf8 n=h=lj= of]hgf 9 1000000.00

15 Rjfuf8 n=h=lj= of]hgf 9 1000000.00

16 kftlnuf8 n=h=lj= of]hgf 9 1000000.00

17
ufpkflnsf sfof{no uh]{ vf=kf 

of]hgf
1000000.00

18 w'/f vf=kf= of]hgf 9 345000.00
19 j]nfk'/ vf=kf= of]hgf 9 340000.00

l;uf; ufFpkflnsf              

ufFp sfo{kflnsfsf] sfof{no 

uh]{, a}t8L

& g+= k|b]z, g]kfn

;8s lgdf{0f 

tkm{

cfufdL cf=j= @)&%.)&^ sf nfuL k'lhut tkm{sf k|:tfljt of]hgfx?sf] ljj/0f

;8s dd{t tkm{

ljB't tyf phf{ 

tkm{

vfg]kfgL tkm{



20 sflnvfgL vf=kf= of]hgf 7 350000.00
21 ulh0f vf=kf= of]hgf 3 350000.00

22
rd8]vs{ :jf:Yorf}sL vf=kf= 

of]hgf

3 335000.00

23
lgªnf8L ujf8Lvf]nf blnt6f]n 

vf=kf=

1 300000.00

25
rL/f]nfvf]nf sf]O{n8f vf=kf= 6+sL 

lgdf{0f

4 350000.00

26 /f]8Lª b]lv a'9fsf]6 vf=kf= dd{t 4 335000.00

27
j8f sfof{no vf=kf= 6+sL wf/f 

lgdf{0f

1 h's]kfgL 400000.00

a|Xdk'/ l;rfO{ 6+sL lgdf{0f 1 300000.00
28 u'g] l;rfO{ of]hgf 5 kfl/u'g] 4000000.00
29 dx/f l;+rfO{ s'nf] lgdf{0f 5 185000.00

30 ufpkflnsf sfof{no ejg lgdf{0f uh]{ 5000000.00

31 hgtf cf=lj= ejg lgdf{0f 5 500000.00
32 jg sfof{no ejg dd{t 2 300000.00

33 RCC k'n lgdf{0f 8
la?au

8
685000.00

34 RCC k'n lgdf{0f 1
8f]af 

a;]8f
685000.00

35 s[lif tkm{ s[lif afuafgL 4000000.00
36 ;f/bf df=lj= kmlg{r/ lgdf{0f 5 300000.00

37
9'+uf8 :jf:Yo rf}sL kmlg{r/ tyf 

pks/0f vl/b

5 200000.00

38 dxfb]j k|f=lj= nfDau/ 3]/af/ 5 200000.00
39 ( j6f 36\6 lgdf{0f 6 685000.00
40 v]nd}bfg lgdf{0f 2 w'/f 685000.00
41 ;]Nn] dlGb/ lgdf{0f 7 335000.00
42 tNnfvf]nf 36\6 lgdf{0f 5 300000.00
43 l;uf; w'/f l;l8 lgdf{0f 5000000.00
44 d]lrª km08 8 5000000.00
45 sG6LGhLG;L 4395000.00

108860000.00

kmlg{r/ tkm{

cGo lgdf{0f

hDdf

vfg]kfgL tkm{

l;rfO{ tkm{

ejg lgdf{0f tkm{

k'n lgdf{0f tkm{


